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ABSTRACT

Redistribution as a Selection Device*

This paper studies the role of the wealth distribution for the market selection of
entrepreneurs when agents differ in talent. It argues that the redistribution of
initial endowments can increase an economy’s surplus because more talented
individuals get credit for their risky investment projects. Moreover, the
redistribution of initial endowments may lead to a Pareto-improvement
although all agents are non-satiable. In my model an agent’s entrepreneurial
ability is his private information. Moral hazard in production creates rents for
entrepreneurs if they are believed to be both talented and willing to provide
entrepreneurial effort. I find conditions such that unproductive rich
entrepreneurs crowd out productive poor ones on the capital market. Then
redistribution of initial endowments leads to the selection of better
entrepreneurs, increases the economy's surplus, and – in some cases –
makes all agents better off.
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NON-TECHNICAL SUMMARY

It is a widely held position that redistribution from the rich to the poor reduces
the size of the pie that is available in an economy. This position is usually
based upon the argument that various types of incentive costs arise when
wealth or income are redistributed. Redistribution reduces individual
incentives to engage in costly effort and hence reduces the economy’s total
surplus. In this paper I argue that redistribution has a positive effect on
production efficiency when it equalizes opportunities and makes the most
talented individuals conduct risky investment projects. There are cases where
redistribution also leads to a Pareto-improvement.

I consider an economy where all individuals are potential entrepreneurs.
Agents differ in their ability to successfully conduct a project. The project’s
success also depends upon the unobservable effort of the entrepreneur. Moral
hazard creates rents for those agents who are rich enough so that they can
credibly commit to providing effort. In this economy productive efficiency
requires that only the most talented individuals become entrepreneurs.
Untalented wealthy individuals may, however, find it profitable to pretend that
they are talented in order to obtain credit from investors. This may lead to a
situation where low-ability rich entrepreneurs crowd out better poor ones.
Redistribution then enables productive poor agents to obtain finance for their
projects on the capital market. This increases the economy’s total surplus.

The investment project in the model may be interpreted in various ways. One
interpretation is that agents open firms and that entrepreneurs differ in their
ability to manage an enterprise. An alternative interpretation of the investment
project is the costly acquisition of human capital, e.g. in a private university.
Agents differ in their learning ability and education requires the individual’s
unobservable effort. A third interpretation is that investments are made to
generate technological innovations. Research success is uncertain and the
researcher’s ability (or the quality of his ideas) and effort are unobservable. In
all these cases the distribution of initial funds determines the quality of the
projects undertaken.

We show that there are cases where the overall effect from redistribution is
positive for all agents. The redistribution of wealth from rich to poorer agents
may be associated with more efficient production and hence with a higher rate
of return for investors. Poorer agents, therefore, gain both from a higher
wealth level and from the higher rate of return. Rich agents, however, suffer a
loss of wealth. Moreover, the (risk-free) rate of return at which rich
entrepreneurs borrow rises. On the other hand, the payments of high-ability
entrepreneurs to investors (if their project succeeds) become smaller because
the entrepreneurs’ average ability is improved. Investors know that
entrepreneurs are better on average, hence, they demand lower payments if
an entrepreneur’s project succeeds. Moreover, former rich low-ability



entrepreneurs now get a high return on their investment. We show that these
two effects may over-compensate all rich agents for their loss of wealth.
Redistribution of initial endowments then changes the capital market
equilibrium in a way that makes everybody better off. Pareto-improving
redistribution is possible despite the fact that all agents are non-satiable.
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